2@ (1/20)
=g = ——
1000
66.5 850 8315 449 7x10.3
TECE
Blfxvy 7T $12x105
"
FER | {1 |
B | =
N R= s
AR L b
M8x 67
oL ﬁ/\?)l/ / E
\¢217Xt19// NREGEEE
N2 EEEE $50.6xt1.6 ERVEE E
$60.5xt3.2

XPHRE. NEE - MRE EHLLTHMRITRTT,

BaE#EN (1/5)

BE7y vy -

NAEKT Y b
D&#H 5ig2E

—

A b
M8x 45

AEMYEBHBN (1/10)
10

40 * o
I 2___
o T

3 || B 3
L
| T%

T-40AP81C
1.0mk REHFI R

<+

T—-40AP8TW
1.0mk RiEHFI R

T-40AP81E

1.0mh A&k B

4 B o
il - ! - i _
S| SES S|
— o
< - -
N <~
A [v@]
GL 6L |l oL ~
TRTAY TEYT o TR | [
N &)
| S J, i o
< ) &)
) —
0300 il

608

10
40 o
- Y
N --‘_I
il
o2
Il LIl
| g | s

(547

DZif

N

)

T—40AP81 1.0mhk B4 5

XaEs

AGFHO0041

J

T-40AP81PL
1.0mkREgH e

=

_Iﬂ_

GL 4

>
el

800
841

0150
f—
RN FM12x 30

fy b7vhH- M12

(kunEs18%& 55mm)

<=A7U- b 3BE (1/10) 1=404P81 1.0mkBEAMR

4-922 o
4-922 0
$—_

O] O©

_Zﬂ£> - 2L
20 & T o]l —t
' Te)
25| | 100 |25

150

ty b7yh- M12

AR L b
M12x 30

(FuNEP18%&55mm)

% % it B B E
% i STK400 B o & + HERRRHE
FEAZL STK400 i o &+ HERKREE
MEmYEE | SGH400 Hfho &+ HERRRE
Nz EESE | SGH400 Hfho &+ HERRRE
T % Hin0ho X+ HENARER
TECE BRIBHD- &
SR SPHC BEpho E+BEI- MRE
P SGH B X+ HEHRER
H¥LE SGH i o &+ HENKREE
EER:) S45C BARBENH- & 910
ANAERT Y b 4,618 BERBHRY- & M10
BE7yvyy—- | F40YV t1.6
Hft Ay b 4 6584 BRI - & M8x 45
A ) b 4 654 AR@EmND> & MBX 67
B % vy T PE EEBE
Fy b 7YN- AREHH- & M12
mﬁfw$ 4 6F8% BB, & M12x 30
Oi) BRRBALIVEDEET 2 eAHVET,



